
Nombres Relatifs (A)Remplissez l’espace vide.9 + ____ = 13 9 + 4 = ____ ____ + 4 = 13____ + 9 = 13 4 + 9 = ____ 4 + ____ = 13____ - 9 = 4 ____ - 9 = 4 13 - 9 = ____13 - 4 = ____ 13 - 4 = ____ 13 - ____ = 9
____ + 1 = 7 ____ + 8 = 15 8 + ____ = 171 + ____ = 7 ____ + 7 = 15 9 + ____ = 177 - 6 = ____ 15 - 7 = ____ 17 - ____ = 97 - ____ = 6 15 - ____ = 7 ____ - 9 = 8

9 + 6 = ____ 7 + ____ = 14 1 + 7 = ________ + 9 = 15 ____ + 7 = 14 7 + ____ = 815 - 9 = ____ ____ - 7 = 7 ____ - 1 = 715 - ____ = 9 ____ - 7 = 7 ____ - 7 = 1
5 + 8 = ____ 4 + 5 = ____ 8 + ____ = 14____ + 5 = 13 5 + 4 = ____ 6 + 8 = ____13 - 5 = ____ ____ - 4 = 5 14 - 8 = ____13 - 8 = ____ 9 - ____ = 4 ____ - 6 = 8

____ + 3 = 9 3 + 9 = ____ 5 + 2 = ________ + 6 = 9 9 + ____ = 12 2 + ____ = 79 - 6 = ____ 12 - ____ = 9 7 - ____ = 29 - 3 = ____ ____ - 9 = 3 ____ - 2 = 5
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Nombres Relatifs (A) RéponsesRemplissez l’espace vide.9 + 4 = 13 9 + 4 = 13 9 + 4 = 134 + 9 = 13 4 + 9 = 13 4 + 9 = 1313 - 9 = 4 13 - 9 = 4 13 - 9 = 413 - 4 = 9 13 - 4 = 9 13 - 4 = 9
6 + 1 = 7 7 + 8 = 15 8 + 9 = 171 + 6 = 7 8 + 7 = 15 9 + 8 = 177 - 6 = 1 15 - 7 = 8 17 - 8 = 97 - 1 = 6 15 - 8 = 7 17 - 9 = 8
9 + 6 = 15 7 + 7 = 14 1 + 7 = 86 + 9 = 15 7 + 7 = 14 7 + 1 = 815 - 9 = 6 14 - 7 = 7 8 - 1 = 715 - 6 = 9 14 - 7 = 7 8 - 7 = 1
5 + 8 = 13 4 + 5 = 9 8 + 6 = 148 + 5 = 13 5 + 4 = 9 6 + 8 = 1413 - 5 = 8 9 - 4 = 5 14 - 8 = 613 - 8 = 5 9 - 5 = 4 14 - 6 = 8
6 + 3 = 9 3 + 9 = 12 5 + 2 = 73 + 6 = 9 9 + 3 = 12 2 + 5 = 79 - 6 = 3 12 - 3 = 9 7 - 5 = 29 - 3 = 6 12 - 9 = 3 7 - 2 = 5
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